



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{2}{5} + \frac{2}{5}\right) =$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} + \left(\frac{1}{4} - \frac{1}{2}\right)^2 =$$

$$\left(4 + \frac{3}{5}\right)^2 + \frac{1}{2} - 3^2 \times \frac{1}{2} =$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{1}{2} + \frac{1}{4} - 3^2 =$$

$$\left(\frac{1}{3} + \frac{3}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{5} + \frac{1}{3}\right) =$$

$$\left(\frac{1}{5} - \frac{3}{4}\right)^2 + \frac{2}{5}\left(\frac{3}{2} - \left(\frac{3}{5}\right)^2\right) =$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{1}{6} + \frac{2}{3} + 4^2 =$$

$$\left(\frac{3}{4} - \left(\frac{1}{2}\right)^2\right) \times \frac{3}{4} - \left(\frac{1}{3} - \frac{1}{6}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{2}{5}\left(\frac{1}{2} - \left(\frac{1}{5}\right)^2\right) =$$

$$\left(\frac{3}{2} + \left(\frac{2}{3}\right)^2\right) \times \frac{2}{5} + \left(\frac{1}{6} - \frac{1}{2}\right)^2 =$$



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{2}{5} + \frac{2}{5}\right) = \left(-\frac{2}{5}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} + \left(\frac{1}{4} - \frac{1}{2}\right)^2 = \frac{5}{48}$$

$$\left(4 + \frac{3}{5}\right)^2 + \frac{1}{2} - 3^2 \times \frac{1}{2} = \frac{429}{25} = 17\frac{4}{25}$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{1}{2} + \frac{1}{4} - 3^2 = \left(-\frac{2}{9}\right)$$

$$\left(\frac{1}{3} + \frac{3}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{5} + \frac{1}{3}\right) = \frac{236}{225} = 1\frac{11}{225}$$

$$\left(\frac{1}{5} - \frac{3}{4}\right)^2 + \frac{2}{5}\left(\frac{3}{2} - \left(\frac{3}{5}\right)^2\right) = \frac{1517}{2000}$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{1}{6} + \frac{2}{3} + 4^2 = \frac{445}{12} = 37\frac{1}{12}$$

$$\left(\frac{3}{4} - \left(\frac{1}{2}\right)^2\right) \times \frac{3}{4} - \left(\frac{1}{3} - \frac{1}{6}\right)^2 = \frac{25}{72}$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{2}{5}\left(\frac{1}{2} - \left(\frac{1}{5}\right)^2\right) = \left(-\frac{23}{125}\right)$$

$$\left(\frac{3}{2} + \left(\frac{2}{3}\right)^2\right) \times \frac{2}{5} + \left(\frac{1}{6} - \frac{1}{2}\right)^2 = \frac{8}{9}$$